
HS.2 (mod 7)

blocks defect matrix

G : 1 1 7× 6
2 1 7× 6
3 0 771 = χ3,0, ϕ3,0

4 0 772 = χ3,1, ϕ3,1

5 0 1541 = χ4,0, ϕ4,0

6 0 1542 = χ4,1, ϕ4,1

7 0 3081 = χ5+, ϕ5+

8 0 1751 = χ7,0, ϕ7,0

9 0 1752 = χ7,1, ϕ7,1

10 0 2311 = χ8,0, ϕ8,0

11 0 2312 = χ8,1, ϕ8,1

12 0 6931 = χ9,0, ϕ10,0

13 0 6932 = χ9,1, ϕ10,1

14 0 7701 = χ10,0, ϕ11,0

15 0 7702 = χ10,1, ϕ11,1

16 0 15401 = χ11+, ϕ12+

17 0 17921 = χ14+, ϕ15+

18 0 13861 = χ17,0, ϕ18,0

19 0 13862 = χ17,1, ϕ18,1

20 0 17501 = χ19,0, ϕ19,0

21 0 17502 = χ19,1, ϕ19,1

blocks defect matrix

22 0 19251 = χ20,0, ϕ20,0

23 0 19252 = χ20,1, ϕ20,1

24 0 19253 = χ21,0, ϕ21,0

25 0 19254 = χ21,1, ϕ21,1

26 0 25201 = χ22,0, ϕ23,0

27 0 25202 = χ22,1, ϕ23,1

2.G : 28 0 561 = χ25,0, ϕ24,0

29 0 562 = χ25,1, ϕ24,1

30 1 5× 3
31 0 12321 = χ28+, ϕ29+

32 0 18481 = χ30+, ϕ31+

33 0 24641 = χ33+, ϕ33+

34 0 17922 = χ35,0, ϕ35,0

35 = 34 0 17923 = χ35,1, ϕ35,1

36 0 18482 = χ36,0, ϕ38,0

37 = 36 0 18483 = χ36,1, ϕ38,1

38 0 25203 = χ41,0, ϕ39,0

39 = 38 0 25204 = χ41,1, ϕ39,1

40 0 25205 = χ42,0, ϕ40,0

41 = 40 0 25206 = χ42,1, ϕ40,1

Block 1: ϕ1,0 ϕ2,0 ϕ9,0 ϕ14,0 ϕ17,0 ϕ22,0

11 = χ1,0 1 . . . . .
221 = χ2,0 . 1 . . . .

8251 = χ13,0 . 1 . 1 . .
10561 = χ16,0 1 . . . 1 .
14081 = χ18,0 . . 1 1 . .
27501 = χ23,0 . . 1 . . 1
32001 = χ24,0 . . . . 1 1

ϕ1,0 = 11
ϕ2,0 = 221
ϕ9,0 = 6051
ϕ14,0 = 8031
ϕ17,0 = 10551
ϕ22,0 = 21451



Block 2: ϕ1,1 ϕ2,1 ϕ9,1 ϕ14,1 ϕ17,1 ϕ22,1

12 = χ1,1 1 . . . . .
222 = χ2,1 . 1 . . . .

8252 = χ13,1 . 1 . 1 . .
10562 = χ16,1 1 . . . 1 .
14082 = χ18,1 . . 1 1 . .
27502 = χ23,1 . . 1 . . 1
32002 = χ24,1 . . . . 1 1

ϕ1,1 = 12
ϕ2,1 = 222
ϕ9,1 = 6052
ϕ14,1 = 8032
ϕ17,1 = 10552
ϕ22,1 = 21452

Block 30: ϕ25+ ϕ27+ ϕ36+

3521 = χ26+ 1 . .
10001 = χ32,0 . 1 .
10002 = χ32,1 . 1 .
39601 = χ37+ 1 . 1
46081 = χ39+ . 1 1

ϕ25+ = 3521
ϕ27+ = 10001
ϕ36+ = 36081


